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307 QI2t0| & 72,000 0 72,000
= 64,000
= 8,000
02 It A X2 72,000 0 72,000
OXNdd=s AXel&HE NAY
72,000,000& 72,000
= 64,000
= 8,000
HESHAAH (BHMZAIA) 47,824 49,724 A 1,900
JI2HH (B AIA) 47,824 49,724 A 1,900
JI2ZHI(FHEZAIA) 47,824 49,724 A 1,900
201 Bt A H| 26,224 26,224 0
01 AtSR 22l bl 26,224 26,224 0
Ogbte=2d| 8,800,000 8,800

_14_




SH: BRHE A

o HES AR (FREAIY)
& D2 (EHMEAIA)
SA - ZE-B(EA) - NRAY - B S il &t o il
Oz &l 6,000& = 22% + 112 ~ 123 17,424
202 44l 13,200 13,200
01 SO HI 13,200 13,200
OJ|l2gesd 50,000& = 22% = 123 13,200
203 R =&t 4,200 4,200
04 2SI LRI 4,200 4,200
ORN2IYSF=AHI 350,000& = 12& 4,200
204 MR AH| 4,200 4,200
01 Mg 4,200 4,200
OXMG = HH| 350,000& = 123 4,200




